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QUESTION 1

An administrator is creating VMkernel adapters on an ESXi 6.5 host and wants to create separate VMkernel adapters
for every type of traffic in the default TCP/IP stack. Which three types of traffic can be explicitly enabled on a separate
VMkernel adapter? (Choose three.)

A. Virtual SAN traffic

B. NFS traffic

C. vMotion traffic

D. vSphere HA traffic

E. Fault Tolerance logging traffic

Correct Answer: ACE

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.networking.doc/GUID-
D4191320209E-4CB5-A709-C8741E713348.html

QUESTION 2

What is the logical and physical sector size for 512e disks?
A. Logical Sector Size 512 Physical Sector Size 512

B. Logical Sector Size 512 Physical Sector Size 4096

C. Logical Sector Size 4096 Physical Sector Size 4096

D. Logical Sector Size 2048 Physical Sector Size 512

Correct Answer: B

QUESTION 3

A domain user is able to successfully log into the vSphere Web Client, but notices that the vCenter Server
system does not appear in the inventory.

Which is the cause of this situation?

A. The Service Control Agent service is not running.

B. The vCenter Server does not have any hosts added to inventory yet.

C. The domain user has read-only permissions on vCenter Server.

D. The domain user does not have vCenter Server permissions.
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Correct Answer: D

The vCenter Server system will not appear in the inventory if you do not have permissions on it. For example, if you log
in as the vCenter Single Sign On administrator user, you might not have permissions on any vCenter Server system.

QUESTION 4

Which are two Storage DRS requirements? (Choose two.)

A. Datastore clusters must have datastores of the same size and I/O capacities.

B. NFS and VMFS datastores cannot be combined in the same datastore cluster.

C. Datastores shared across multiple datacenters cannot be included in a datastore cluster.
D. NFS and vSAN datastores can be combined in the same datastore clusters.

E. A dedicated TCP/IP stack is required for datastore clusters.

Correct Answer: BC

QUESTION 5

Which three TCP/IP stacks are built in at the VMkernel level in vSphere 6 x? (Choose three.)
A. Fault Tolerance

B. vMotion

C. Provisioning

D. Management

E. Default

Correct Answer: BCE
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